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fleyemrsen : (1)  siwasg elamsseEnn sflursl uHeTs o eTarsT eraTUgmer SMLTTSSS

Instructions :

GolLy :
Note :

@moiuy :

Note :

Qamerarayd. HiEs LS eND Genulminden, iamps samsreasiliLmarilLLb
2 | aniquings CsflelgseyLb.

Beod  owg smUY owvlma LLEGCL TWEHUSHEGL
9 &ECsTERHeugsDEGL Lwau(ss Couammhb. ULRSE udrausD S
Quendled LiwemhSEeLb.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw

diagrams.

Caemeuwiner @L &Sl UL euerhgl, FLGTLT(HGEMET 6T(LHSaLD.

Draw diagrams and write equations wherever necessary.

(1)

(1)
(i)

U@l - 1/ PART - 1

Swesg elanssEna@n ellenwealdseaw. 15x1=15
CarhssuulBarer wrhn elamLsafld Wsayb ghymLw elamLmus
Caihs®ss GAWLHLa elenLulamanyd Caiisg erpsalb.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and corresponding answer.
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1. Quselaflur urdwd Y umeinu@aﬂgp@].

(=) war SeowHu@ & (=) auad) Hleumyenfl
(@) <=l H&8 () e awia] B&d
Milk of Magnesia is used as

(a) Tranquilizer (b) Analgesic

(c) Antacid (d) Anaesthetic

2. @m Gud deanlaiGurg Gsissliu@b efamarGos wrHil 196mem|elareuDmIeT
aTgeat wIHHwmEEDG ?

(1) eran_Gymd (<) <6 OO
(8) Seriey HDE () eremgpmavldl

The addition of a catalyst during a chemical reaction alters, which of the following
quantities ? .

(a) Entropy (b) Internal energy

(c) Activation energy (d) Enthalpy

3. anrme Qapgrel Qeweapenpulieriyg 9N50sHEsLLGHL 2 Caorshd :

(=4) Cu (<) Al (&) Zn (rF) Ni

The metal extracted by Hall-Heroult process is :

(a) Cu (b) Al (c) Zn (d) Ni

4. Gereumeuameupmer 1.73 BM ambgs Hmuysdmen wdlibamar Qubpmperers -
(1) [CoClg]"™ (<) TiCl, (@) [Cu(NH;), | () [NiteN), >

A magnetic moment of 1.73 BM will be shown by one among the following :

@) [coCl]®™ (b TiCl, (© [Cu(NHa), " (@) [NicN),
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5. Wereumeuareupmier erg sflwnsl Qummbdwerarg ?

(1) mewyuy - uefleplib

(<) ureLLOLD - Lien&

(&) spws senysd- SO&SIUL L &
(/) &afl - QeuamQewTi

Which one is correctly matched ?

(a) Foam - mist
(b) Emulsion - smoke
(c) Sol - whipped cream

(d) Gel - butter

6. WereumeuareupmieT eTeng Gais@n Gurg Spsar. Gflmss swhame efamearude
Qurg Sweafl elleneTencu 2 (Heur@GHL ?

CH3COOH,,, = CHzCOO0~ o +H* o
(<21) CH,COCI (<2,) AgCl (@) CH,Cl () HCl

Which one of the following will cause common-ion-effect when added to the
following dissociation equilibrium reaction ?

CH3COOH(aq) S CHSCOO_(aq) +H+(aq)
(a) CH,COCI (b) AgCl (c) CH,CI (d) HCl
7. Cgp et cumium@enw Lefafler o arer smiuie @ans seoliLmLWwg).
(<4) sp? (<) sp® (&) spd () sp
Carbon atoms in Fullerene with formula Cg, have hybridisation.
(a) sp? (b) sp? (c) sp’d (d) sp
A [ Q(@gugg / Turn over
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8.

Spsami@aaiien Qurgeurar < &AnCamn Hla :
(1) +4 (=) +2 (@) +6 () +3
The most common oxidation state of Actinoids is :

(a) +4 (b)) +2 (c) +6 (d +3

gapm :  Gemsev-4-mFeamenplMed -8 GDLe‘P)GGWIE]g#I'_m.L_Gb .a@n&.sui-]u_ub
manl_@rfLer maiu@sd Qe SrrpuEssred Hansev-4-
raned -5 SHADS!

SJETTTLD : eLmpGamAut oL gilaflwun manl ar® @ Gahe @&l
2,GLD.

(1) Gndm &M e SMFEID Seum.

(<) Sadm, sMTewId @ra@b &, yarred sSryewrn aaxg')gS]‘,rj)a;rrsm giflw e
eNleTSE 6.

(8) Fabdmi, SMrewTd GramHib Seum.

(F) &apml, snrewid Qram®b &M, Coebd srrewid sapdlpsrar sflwrer
GAleT&SLOTELD.

Assertion : Hex-4-ennitrile on reaction with Di-isobutyl aluminium hydride
followed by Hydrolysis gives Hex-4-enal.

Reason : Di-isobutyl aluminium hydride is a selective reducing agent.
(a) Assertion is true but Reason is false.

(b) Both Assertion and Reason are true, but reason is not the correct explanation
of assertion.

(c) Both Assertion and Reason are false.

(d) Both Assertion and Reason are true and reason is the correct explanation
of assertion.
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Qereumeuaneupdley arg) amwor sHTeiFHdEG @ epowrs LweaTu@GHng ?
(1) Xe (<) Ar (@) Rn (/) Kr
Which of the following is used as the source of gamma rays ?

(a) Xe (b) Ar (¢) Rn (d) Kr

gL eanlygen Wearapenamuier (SHE) emf wdlliureng

(1) — 1.0 (<) 0 (@) 1.1 (F) +1.0
The emf of Standard Hydrogen Electrode (SHE) is

(a) -1.0 b) O (c) 1.1 (d +1.0

2 Caorsd s apeTer Gepunr® sreerlL@ID Lig&Ld

(=) NaCl (<) AgBr (@) AgCl (FF) FeO
The crystal with metal e}.<cess defect is : |

(a) NaCl (b) AgBr (c) AgCl (d) FeO

GeeumeuaTeupiled 6Thg &y DNA -afled Gevemev ?
(31) wmélev (<24,) 2ilqeneuet (@) sl CLnmengen (FF) (GoeumTanamen

Which of the following base is not present in DNA ?

(a) Uracil (b) Adenine (c) Cytosine (d) Guanine

Yeneumeanaupmer graflwmd @upbdriseier CrgCulLisafler 2.ap et
Qumretral LweTu@eugl g ?

(=) Quggearme (<) FECsa-1, 2-aL e

(8) agspamme (/) Elensymed

Which of the following compound is used as an anti-freeze in automobile radiator ?
(a) Methanol (b) Ethane-1, 2-diol

(c) Ethanol (d) Glycerol

[ ‘5]@13145; / Turn over
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15. gfl@aru sibarsdr <iCrrGuys yayman@Lear lmanfss AET(CEICIN
cflanam@uim(mer :

(<o) afleets smyLd (<) sniuTEAeds Sfei
(@) & CLnen (%) 2CrrCioé Siflad

The product formed by the reaction of an Aromatic aldehyde with primary amines
is @

(a) Schiff’s base (b) Carboxylic acid

(c) Ketone (d) Aromatic acid

L@ - II/PART - II

GfILyY : aCseIbd Sy elamss(enis elewaléaaib. eflan Tar 24 -6 SHL_LMULDTES
e wafléaseyi. 6x2=12

Note :  Answer any six questions. Question No. 24 is Compulsory.
16. eqeiaums grgissmer ILTLNES, porllsiy wop gong ? Ass@msW

BME65EH5E QM THSSSSMT_[HE6T H(s.

Which type of ores can be concentrated by froth floatation method ? Give two
examples for such ores.

17. dCsrengaflen Lweanganar (PGS

Write the uses of Silicones.

18. Syamamays Gamorisefld) LW ) TETLSMET QUMTLUDESAD.

Define the term central atom in co-ordination compounds.

19. FCC sia@h sy sramuu@d Signsseen aaralsmaiams sansd(s.

Calculate the number of atoms in an FCC unit cell.
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Qo Sie-giy QrlenLger erenmmed ereme ?

What is conjugate Acid-Base pairs ?

aflenenGausiommm BEGHET GTMTE) GTayan ?

What are catalytic poisons ?

SIEILCLenan ereueummy LCrmUCLeH TS WTHOIeUTI ?

How will you convert acetone into propane ?

DM TGLOTETSET GTeNmme) erammen ? 2_FMTERTLD &(5H3.

What are Hormones ? Give example.

Yereumid elenareuflansuley o erer A wpmid B Caiorisene s sar_fls.

CH;CH,NO, - SVHQ | , _ CHicodl |

Identify the compounds A and B in the following sequence of reactions.

CH3CH,NO, —/HC | o CHycodl | o

u@$l - 111/ PART - III

GOIUY : gCsemib oym) cflenésenég elenwialssayin. elam eraim 33 -8(@ SLL_muons

Note

25.

26.

eflenL_well&sayLb.

Answer any six questions. Question No. 33 is Compulsory.

oldegagt L Crrlicy Qsm@liy apenperw updl GOlLY euemys.

Write a note on Fischer tropsch synthesis.

OMHSMUBGET, i &lg@MLIHEET - QeupdinEg @enCuiwirer Gaumursar
TCaEIb epemdanan er(pg)s.

Write any three differences between Lanthanoids and Actinoids.

[ Slmuys / Turn
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27. [Pt(NO,)(H,0)(NH;),|Br erep sjenamreded \QenmeumeeTelpenDs &er L.
(<) @ww o Gons ian/swal
(<) AenawTay cranT
(@) e@wvw 2 Cars Swealluier <y &flpGarhn eredr
For the complex, [Pt(NO,)(H,0)(NH,),|Br identify the following.

(a) Central metal atom/ion

(b) Co-ordination number

(c) Oxidation number of central metal ion

28. GQapawCGanm ey Wear @il SiH&E updl GOl umrs.

Write a note on Helmholtz electrical double layer.

29. Warermh UESS® updiw «.umfGL ellflamer eT(Lpgis.

State Faraday’s Laws of Electrolysis.

30. sl L Sjwall parhler ewlmUG S(HE.

Give the structure of a Zwitter ion.

31. agfé 2 Gl ereueumy eargdled SELCLT HCLLLms wrHmeumis ?

How will you convert Ethylacetate into Ethylaceto acetate ?

32. 2.away ugaT QUIHLEE eaumey wremal ? Q) TOSSISSTLHG6T H(ms.

What are food preservatives ? Give two examples.

33. @m s cums allepanurarg 99% Blenp 2-enLw Ggeneuwimer Ghywneng) oieuelamar
90% flanpeuami g Coevauwen Crrgomsl Gurw Qram® wLkiE s s (s.

Show that in case of first order reaction the time required for the completion of
99% is twice the time required for the completion of 90% of the reaction.
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u@$ - IV/PART - IV
GOLY : Semenggy elemés@ssEb elemiwalsmeab. 5x5=25

Note : Answer all the questions.

34. (@) yeossniewwurssd peoplmar @ ahssssr_Hrer elaufléseaymb.

AL
() () Gereumib Cawiisaild anregersaiean sflnGapn Hawamws
st (H914 &6y Lb.
(1) OF, (2) 1,0,

(i) Qereumd elamarsmer yisd Qsuis.
(1) P,+NaOH+H,0 —
(2) XeFg+H,0 —
(3) Cu+Li HySO, —

(a) Explain zone refining process with an example.

OR
(b) (i) Find the oxidation state of Halogen in the following compounds.
(1) OF, (2) 1,04

(ii) Complete the following reactions.
(1) P4+NaOH+H,0 —
(2) XeFg+H,0 —

(3) Cu+conc. Hy,SO, —

A [ Sl(mliys / Turn over
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35. (=) () e CunGraflen eugeuaivlionts efeuféasayL.
(ii) ergdld GuGrL Gergmatew epss.
SIV6VG|

() 2 Caorss srrCurenarcseafe srewliu@b GoearlGear geranLpsaner
elleuf&seyLb.

(a) (i) Describe the structure of Diborane.

(11) Write ethylborate test.
OR

(b) Describe the nature of bonding in metallic carbonyls.

36. (=) aymldl OHMID oAFThRsSD GmnurHsamer eNeTd@Es.
S|V6V G
(=) (1) ygw cllenand @ @rerr® 2 FTITRIGET S(HS.
(ii) Ggmrer ugalGsed wHmD @riur QgTadle FmPRIGET TeueUmm
vwetuh&Eng ?
(a) Explain Schottky and Frenkel defects.
OR

(b) (i) Give two examples for zero order reaction.

(ii) How colloids are used in tanning of leather and in Rubber
industry ?

37. (1) gpaveaural -Bissd elfésmear oamur’ oL eumellésab.
{60605
(@) (i)  efeden, Lifed Ayl elameand@ oL uBeudlome. ger ?
(i) enBETET-2-EBHENE-6 6TeUeT) sumi&slu@ &g ?
(a) Derive an expression for Ostwald’s Dilution Law.

OR
() (i) Why aniline does not undergo Friedel Craft’s reaction ?

(i) How nylon-2-nylon-6 is prepared ?
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(=0) () Q‘—'mg”eblq-m,@mlq.@@;ﬁg,] WmevensL. LIFenF eTeueumm SWMMEsSIUGSE DS ?
(i) Gsmird enpl ooy GMIEs allenestenully LIDHMl Hm GOIIL] 6T(HSIS.
D6V6VE) l
(=) CGP{GO 6TerTD cumuium enL 2 ewL_ w1 G&rwib (A) pMHBlencw FeCly -2 L 65T 2arsm
@D_ﬁ@é‘{% SHEmg. Corwid (A) ibCwralwme|LeT aSenaTL b (B) 6resTm
Gerosensuyb. Goaib Zn -SHNEHL 6T afleweTfpbg (C) erettm GoFmoSensuld
SGEDEI. A, B, C CGsibhisaner SHHTL_MI6FH GNHEBTHENET GT(LDSHIS.

(2) 1) How Malachitegreen is prepared from Benzaldehyde ?
(ii) Write short note on Thorpe nitrile Condensation reaction.
OR
(b) Compound (A) of molecular formula CgH O gives purple colouration with
neutral FeCl;. Compound (A) reacts with ammonia to give Compound (B)

and it also reacts with Zn dust to give Compound (C). Identify the Compounds
A, B and C and write down the equations.

-00 o -
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